
Subject: Re: Very strange problem in IDL histogram, A bug???
Posted by Poonam Chandra on Mon, 27 Jun 2011 15:18:14 GMT
View Forum Message <> Reply to Message

On Jun 25, 2:49 pm, Poonam <poonam.chan...@gmail.com> wrote:
>  On Jun 24, 4:30 pm, Jeremy Bailin <astroco...@gmail.com> wrote:
> 
>>  By default, cghistoplot uses an adaptive algorithm to decide on the binsizes. To force it to a
bin size of 1 (which is what you want), use binsize=1 in the cghistoplot call.
> 
Thanks Jeremy, it did work great.
Poonam

Page 1 of 1 ---- Generated from comp.lang.idl-pvwave archive

http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=7349
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=32635&goto=76741#msg_76741
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=76741
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

